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Part A - Answer Any Two Full Questions (16*02=32 Marks)
1 (a) What is dispersion? Write any 2 characteristics of dispersion [02] cO1l L1
(b) Calculate the median from the following distribution using step deviation? [06] CO2 L2
Marks: 4-7 8-11 12-15 16-19 20-23 24-27
F $12 23 40 65 17 3
(c) From the data given below state which of the two series is more variable? [08] CO2 L5
Infer based on Co-efficient of variation.
Variable 10-20 20-30 30-40 40-50 50-60 60-70
Frequency 10 12 32 40 22 18
A
Frequency 18 22 40 32 18 10
B
2 (a) Define Mode? Give any 2 examples of mode. [02] CO2 L1
(b) If the average wages paid to 25 workers is 79.60, find the missing frequencies. [06] CO2 L2
Wages 50 60 70 80 90 100 110
Workers 1 3 - - 6 2 1
(c) From the following data find out the simple and weighted average of the pass percentages| [08] CO2 L3

and comment upon the performance of the students of the three universities

Courses | Bangalore University | Delhi University Chennai University
Pass % No of Pass % No of Pass % No of students
students students
BA 60 3 50 4 80 7
B.Sc 70 4 60 5 30 6
B.COM | 65 5 70 2 60 5
M.A. 40 2 80 3 50 3
M.Sc 55 3 40 4 70 2
M,Com 40 1 30 5 40 1
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3 (a) What is Mean? Write the formula for calculating mean [02] CO2 L1
(b) Anincomplete frequency distribution is given below. [06] CO2 L3
Find the missing frequencies if Median — 46 Total frequency — 230
C.l 10-20 20-30 30-40 40-50 50-60 60-70 70-80
f 12 30 - 65 - 25 19
(c) A Manager is actively considering the following two mutually exclusive projects for [08] CO2 L5
adoption.
Year Project M Project N
Cash profit (Rs in lakhs) Cash profit (Rs in
lakhs)
1 10 5
2 5 25
3 20 45
4 40 30
5 60 30

Which is the riskier project? Which product should be considered for adoption?

Part B - Compulsory (01*08=08 marks)

(@ i)

Find the value of mean, median, mode, standard deviation and co-efficient of [08] CO2 L4

variation from the below data.

Class Interval No of Students

43-47
48-52
53-57
58-62
63-67
68-72
73-77
78-82

Course Outcomes

2
5
12
17
14
6
3
1

PO1
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CO1:
Co2:

COs3:
CO4:
CO5:
COe6:

Cognitive level

To introduce statistics as a tool for business 1

3a,1a  3c 3b

decision making c

L1
L2

L3
L4
L5

KEYWORDS
List, define, tell, describe, identify, show, label, collect, examine, tabulate, quote, name, who, when, where, etc.

summarize, describe, interpret, contrast, predict, associate, distinguish, estimate, differentiate, discuss, extend

Apply, demonstrate, calculate, complete, illustrate, show, solve, examine, modify, relate, change, classify,
experiment, discover.

Analyze, separate, order, explain, connect, classify, arrange, divide, compare, select, explain, infer.

Assess, decide, rank, grade, test, measure, recommend, convince, select, judge, explain, discriminate, support,
conclude, compare, summarize.
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